Multiplication et Division par 1 000 (I)

Trouvez chaque produit ou quotient.

45 x 1000 = 18 +1000 =
40 x 1000 = 24 +1000=
6 x1000= 47 x 1000 =
24 x1000= 36 x1000=
821000 = 31 x1000=
59 x 1000 = 57 +-1000=
58 +~1000 = 48 +-1000 =
65 -+ 1000 = 1+1000=
91+1000= 55+1000=
91 x1000 = 12+1000 =
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Multiplication et Division par 1 000 (I) Solutions

Trouvez chaque produit ou quotient.

45 x 1000 =45000

40 x 1000 =40 000

6x1000=6000

24 x1000=24000

82 -+1000=0,082

59 x 1000 =59 000

58 +~1000=0,058

65 -+ 1000 =0,065

91-+1000=0,091

91 x1000=91000

18 +1000=0,018

24 +1000=0,024

47 x 1000 =47 000

36 x1000=36000

31 x1000=31000

57 +-1000=0,057

48 =~ 1000 =0,048

1+1000=0,001

55+1000=0,055

12+1000=0,012
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